
6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�*(2/2*,;�'(02 �������������������6WURQD��

2WZDUWH�0LVWU]RVWZD�']LHFL�R�3XFKDU�'\UHNWRUD�0=26�3áRFN
3áRFN�����������

.RQNXUHQFMD�� ']LHZF]ąW����P�JU]ELHWRZ\ ��ODW�L�PáRGVL
������������������ :\QLNL
3XQNW\��),1$�����

3R]\FMD 5RN�XU� &]DV 3NW�

��ODW

�� -DQLFND�-RDQQD �� 8.6�GZyMND��6RFKDF]HZ �����
�� 'RPDĔVND�=X]DQQD �� 8.6�GZyMND��6RFKDF]HZ �����
�� '20$12:6.$�.$7$5=<1$ �� 8NV�.XURUW�&LHFKRFLQHN �����
�� %RUDWRZVND�1HOD �� �����
�� -ĉ'5=(-(:6.$�0,&+$/,1$ �� 8NV�.XURUW�&LHFKRFLQHN �����
�� %HUGHN�1DWDOLD �� 363�6:,0�3ORFN �����
�� 0$5-$ē6.$�2/,:,$ �� 8NV�.XURUW�&LHFKRFLQHN �����
�� 7RPDV]HZVND�2OLZLD �� 363�6:,0�3ORFN �����

��ODW�L�PáRGVL

�� 5XWNRZVND�0LFKDOLQD �� 363�6:,0�3ORFN �����
�� =8&+1,$.�=2),$ �� 8NV�.XURUW�&LHFKRFLQHN �����
�� 3DVNXGD�=X]DQQD �� .3�0=26�3áRFN �����
�� ./$0(&.$�.$52/,1$ �� 8NV�.XURUW�&LHFKRFLQHN �����
�� &LFKRFND�-RDQQD �� .3�0=26�3áRFN �����

3. :LNWRURZVND�0DMD �� .OXE�3á\ZDFNL�3áHWZDO�0áDZD �����


